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6 {EH ( =9 - LB T ) 183 =TI 76 (39 37 )
1T $Ha 2E ( &% - L 2 ) 183 =TI 76 ( 38 38 )
= £ X = H 5 =
8 ILp& A ( =% - it 2 ) 155 = 76 19 (37 42 )
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1 E 75 ( &F - REE$PR 2 ) 164 = 85 9 ( 38 41 )
12 =HHABE ( =9 - it 2 ) 165 = 83 82 ( 43 39 )
13 O0— #% ( B% - WeExE 2 ) 166 = 84 82 ( 39 43 )
14 FHEDF ( =9 - it 2 ) 168 = 82 86 ( 43 43 )
15 e XE  ( BE - LeEH 2 ) 170 = 8 84 ( 41 43 )
16 EFHPH ( B8 - MWWeFdE®x 2 ) 118 = 91 87 ( 44 43 )
17 RN Fi# ( &F - REHBR T ) 181 = 93 88 ( 44 44 )
18 N R ( BW - MWWeFdE®x 2 ) 198 = 96 102 ( 50 52 )
19 /MURER ( &% - NIX-— 1T ) 214 = 107 107 ( 48 99 )
20 FBH/YSS ( &% - /N\IX— 1T ) 249 = 132 117 ( 56 61 )
21 RB/INE=x ( &% - INF T ) 249 = 121 128 ( 66 62 )
22 HmEH K=x ( % - +#EBEIX 1 ) 263 = 136 127 ( 63 64 )
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